
Heavy-Duty Tilt TV Wall Mount

SKU: MI-303B

Scan this QR code for 
product information, videos, 

and assembly assistance.

(855)- 925-5668 5 5



CHOKING HAZARD. Package includes small parts. Not for children under 3 years. Adult supervision is required

Check carefully to make sure there are no missing or defective parts. Some hardware provided may not be used. 

Use the correct wall mounting and TV mounting hardware suitable for your installation.

 TV MOUNTING HARDWARE

 WALL MOUNTING HARDWARE

(Mount-It!) for a replacement.

please contact us 

please contact us 

(Mount-It!) for assistance.
COMPATIBLE VESA SIZES FITS MOST TVS UP TO WEIGHT RATING

WARNING: This installation manual is intended to provide guidance on how to install the TV mount and the TV on a suitable wall. 
Please contact a qualified professional if you are unsure of the steps described in the manual or have doubts about the safety of the 
installation. Improper installation may cause damage or serious injury. We cannot be held liable for damage or injury caused by 
improper mounting. Incorrect assembly, inappropriate use or for use cases not explicitly specified in this document. If unsure, please 
contact us at www.mount-it.com. Email at support@mount-it.com, or call us at 1 (855)- 925-5668

MI-303B 80 80kg
(176lbs)

200x200/300x300
400x200/400x400
600x400

(4)M
M-A M-B

M-G M-L

W-A W-B W-C

M-H M-I M-J M-K

M-C M-D M-E M-F
5x12 Bolt (4)M6x12 Bolt (4)M8x12 Bolt (4)M5x30 Bolt (4)M6x30 B

M8x50

olt (4)M8x30 Bolt

(4)M8x45 Bolt

(1)Wall Plate-A

(1) Right VESA Bracket-C

(2)Tilt Adjustment Knob-D

(1) Left VESA Bracket-B

(4) Lag Screw

(4)M6 Space (8) M8 Space (4) M5 Washer (4) M6 Washer (4) M8 Washer

(4)Concrete Anchor (4)Lag Screw Washer



 INSTALLATION OPTION 1: Wood Stud InstallationInstall the Tilt Adjustment Knob

WARNING

Tighten screws so that wall plate is firmly 
attached,but do not overtighten.Overtightening 
can damage screws,greatly reducing their 
holding power.

C/B

D

Install the Tilt Adjustment Knob (#B) and washer into the Left and Right VESA Brackets (#B, C) 
in the orientation shown here.

With a stud finder locate the stud and center the mount on the 
stud at the desired height. Using a bubble level to ensure 
straightness, hold the Wall Plate (#A) to the wall and mark the 
center of the 4 mounting holes with a pencil as shown here.
Use a 3/16” drill bit and drill on the marked locations to a depth 
of 2.2”. Secure the Wall Plate (#A) to the wall using Lag Screws 
(#W-A) and Washers (#W-C). Tighten the screws until secure.

A

W-A
W-C

2a

TOOLS 
REQUIRED



 INSTALLATION OPTION 2: Concrete/Brick Wall Installation Installing the TV to the mount3

Attaching TV to Wall Plate and Fastening the Safety Bolts

TOOLS 
REQUIRED

TOOLS 
REQUIRED

M-D M-E/M-F M-J/M-K/M-L

M-H/M-I

M-A M-B/M-C M-J/M-K/M-L M-G M-L

M-I
M-I

Tight

TOOLS 
REQUIRED

WARNING

Tighten screws so that wall plate is firmly 
attached,but do not overtighten.Overtightening 
can damage screws,greatly reducing their 
holding power.

B

C

2b

4

A

W-A
W-C

W-B
Using a bubble level to ensure straightness, hold the Wall 
Plate (#A) to the desired location on the wall and mark the 
center of the 4 mounting holes with a pencil as shown here. 
Use a 3/8” drill bit and drill on the marked locations to a 
depth of 2.4”. Clear any dust and debris from the holes and 
insert the Concrete Anchors (#W-B). Secure the Wall Plate 
(#A) to the wall using Lag Screws (#W-A) and Washers (#W-C). 
Tighten the screws until secure.

Lay your TV down on a flat surface and align VESA Arms (#B, #C) over the VESA holes as shown, 
with Left VESA Bracket (#B) on the left, and Right VESA Bracket (#C) on the right.
Select the appropriate size mounting bolt (#M-A through M-G) and washer (#M-J, M-K, M-L) for your 
display’s mounting holes and verify the length of the VESA bolt is not too long. If you are unsure of the 
correct bolt size for your display refer to your TV user manual or contact the TV manufacturer for sizing 
information. If necessary, use the included spacers (#M-H, M-I) between the mount and the TV to 
adjust the length of the mounting bolt. Multiple spacers can be used in combination to achieve the 
desired bolt depth. Attach the VESA Brackets using the selected hardware in the matching configuration 
shown here.

Hook the TV onto the top of the Wall Bracket as shown here, then slowly 
swing the TV down until it is fully lowered. Tighten the Safety Bolts
on the underside of both VESA brackets until the bolt is past the lip of the 
wall bracket, so that the TV cannot be accidentally lifted off the wall.


